N GYRONETICS

Y%7 INNOVATIVE FITNESS PRODUCTS
Multi-function Bench (30000004)




M

Washer: (M10)

Washer: (M8)

GYRONETICS

INNOVATIVE FITNESS PRODUCTS

Nut: (MlO) Nut: (MS)

© © ©

10PCS 10PCS

Hex Bolt: (M10x160)

5PCS 2PCS

1PC

Hex Bolt: (M10x70)

2PCS

Hex Bolt: (M10x60)

[T 1]

1PC

Carriage Bolt: (M8x45)

2PCS

Hex Bolt: (M10x20)

i

PC

Hex Bolt: (M8x40)

4PCS

Hex Bolt: (M8x20)

i

4PCS



sadz - INN 8N sodg - Jaysem 8N

sodz - GyX8IN 1j0g abeue)d




sadz - INN 0T sady - Jaysem 0TI

© ©

odT- 0ZXOTIN Hog XaH

A |

odT - 09X0TI 1108 XoH ﬂ OH _\/_

B

WD 0ZXOTI - 0TI\

= ¥1109 xoH




0LXOTW
jod XoH

@ﬂ/_ @,\.. _

uld




A
©
N/
M10 Nut - 2pcs

Hex Bolt M10x160 - 1pc

M10 Washer - 4pcs




SagHex Bolt | [T NI

M8x40 -

Hex Bolt M8x40 - 4pcs

- ()

Hex Bolt M8x20 - 8pcs Washer M8 - 12pcs

IQVNHWO__“ A\r
M8x20 \




GYRONETICS

INNOVATIVE FITNESS PRODUCTS

<@>

Maximum Load:100kg



